mL—Y=—TIT/87)—k 12A7Y)—F—X 20194 1288H(A)
Standard class _ _ __ I/ BlSE
I £z K& +—)L No. [ IR|5 8| 2RIFHIBRIGH ARG LI BREBTS
1 [faQ = 208222 2[ 2] 4] 4] 2 2 3] 3 11
2 [i[EK ——B | 215035 |DNC| 16| 9| 9] 4| 4] 1| 1 30 |#AKpEE
3 |#ER 212013 |DNCl 16| 3[ 3| 71 7| 4| 4 30 |E@mAAg
4 |XHk 216063 |DNCl 16| 6 6/ 1| 1] 8 8 31
5 1db# BB—PEA| 211154 11 1] 2| 2|DNC| 16|DNC{ 16 35
6 [{ZBE IFE 211049 [DNC| 16| 7] 7] 8| 8] 5| 5| 36 |PEEHst
7 |EE FORT 199069 [DNC{ 16|DNC| 16| 3[ 3| 2| 2 37 |iE=E
8 [FZE s=Egh 17227 3l 3] 13| 13| 11| 11| 11| 11 38 iEE
9 |JEH = 207993 |DNCl 16| 10[ 10| 6] 6| 6 6 38 M ARRE
10 |7 TFi# 182305 |DNCl 16/ 5/ 5/ 9 9] 9| 9] 39 |#KE
11 [Ilh\ =% 217009 al 4| 12| 12| 12| 12| 12| 12| 40
12 |HEE7 8y 166782 |DNCl 16/ 8| 8| 5| 5|DNCl 16| 45 |#fKEE
13 | 7—/JLF 207075 |DNCl 16| 11[ 11] 91 9| 10[ 10 46 BEE
14 |8 K Zeal 204996 |DNC| 16| 1| 1|/DNC| 16|DNC| 16| 49 |z
15 |8tE &I 196484 |DNC| 16|DNCI 16| 10| 10| 7[ 7 49 |iE@%
BE |BAD) [ ] 90 20 90 90
B & [m/s] 4 3 4 3
FIGER(FR8R) RA—NEEZ 10:35 11:20 12:03 13:00}
T4y 1Y 11:04 11:45 12:35 13:34
Radial class _ _ _ _ _
JIE {32 K4 t—J)L No. | IRIBHI2RIBRISRIBAI4RIBHAIRESTS
1 5 Esd 201484 AT ] 2] 2 2 2 1] 1 6
2 |hE {Zis 207418 2| 2| 1[ 1] 1| 1] 5| 5 9
3 =R = 181193 4| 4] 7[ 7] 4 4 3| 3 18
4 | 2H] 72713|DNCl 12| 3| 3| 3| 3| 2| 2 20
5 KR #H 156030] 3| 3| 6/ 6/ 6| 6/ 8 8 23 |Guest
6 /Ml Ea 66] 6| 6/ 5 5] 51 5] 7| 7 23
7 |’ sE=— 184001 71 71 4| 4] 8 8 9] 9] 28
8 |mF 13 112015 5/ 5| 8 8 9f 9] 6| 6 28
9 |KIEK #FH 127393] 8| 8] 9| 9] 10[ 10| 10| 10| 37
10 | A¥ BE 151791|DNCl 12|DNC{ 12[DNCl 12| 4| 4 40
11 {882 = 217066/DNC]  12|DNC 12| 7] 7 11] 11 42  |SEEF
EE (%K 3AE) L[ [ ] 90 20 90 90
= [ m/s] 4 3 4 4
PG (FRER) JRI—LEEZ 10:35 11:20 12:09 13:05
T4 Y 11:04 11:47 12:44 13:41
4.7 class _ _ _ _ _
JIIE {52 K4 t—JL No. | IR |55l 2RIFH|SRIGHI 4R |IBHAILER"S
1 [AM #HE 185355[DNC] 10] 1] 1] 1] 1] 1] 1 13
2 |&F B 133167|DNC| 10| 2| 2| 2| 2| 5| 5 19
3 |7 Sail No.ZzL [DNC[ 10|DNCl 10| 3| 3| 2| 2| 25 |stzory
4 |2 196489|DNC| 10|/DNC| 10|/DNC| 10| 3| 3| 33 |stzorvy
5 |BA 145709|DNC| 10|DNC| 10|DNC| 10| 4| 4| 34 |strzory
6 |/hEE 151791|DNC| 10|DNC| 10|/DNC| 10| 6] 6| 36 |@mtrzoru
7 |#0%0 fEAER 95227[DNC| 10[DNC| 10[DNC{ 10| 7| 7 37 |mtzory
8 |FHZE 180159|DNC| 10|DNC| 10|/DNC| 10|DNF| 10| 40 |@mtrz>hu
9 (2 133167|DNC| 10|/DNC| 10|/DNC| 10|DNC| 10| 40 |stz>rvy
EE |#HAGR) [E R 90 20 90 90
=) &L &E[m/s] 4 3 4 k] |
FIEE(BE%) RF—REEZ 10:35 11:20 12:09 13:05
T4=v 105 11:51 12:50 13:46




